Algebra II







Unit 2: Polynomial Functions Name____________________________________



Date_____________________

	Unit: 2
	Homework: 2

	Divide the following polynomials using synthetic division. 

	1. (x2 – 5x – 20) ÷ (x – 4)
	2. (4x3 - 7x + 8) ÷ (x – 1)


	3. 
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	4. (x3 – 7x2 + 36) ÷ (x – 3) 


	5. (2x4 – 6x2 + 8x + 2) ÷ (x + 2) 
	6. (4x4 – 3x3 – 7x2 – 4x – 9) ÷ (x – 2)



	Divide the following polynomials using long division. 

	7. [image: image2.png](262 = 17x—38) + (2x +3)




	8. [image: image3.png](422 -33) = (7x +7)






	9. [image: image4.png]@2p*+7p=-39)+(2p-7)
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	11. [image: image6.png](a®>-28)+(a-5)
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	13. Synthetic division is an efficeient tool for dividing a polynomial by a binomial and also for evaluating a polynomial for a given constant. However, the process works only when the divisor is a binomial of the form (x – a), where the coefficient of x is 1. How could the process be used to divide the polynomial 
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	Divide using synthetic division. 

	14. (4x2 + 8x – 10) ÷ (2x + 6)
	15. (3x3 + 12x2 – 15x + 15) ÷ (3x – 9)


	16.  If – 3 is a zero of 
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, find the value of k. 


	17. Divide: 
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